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Match the number sentences with the word problems.
(Optional: Color the images in the problem and the correct answer the same color.)

1)

2)

3)

5)

8 piglets were born to a pig. How many piglets were born to 3 pigs?

OO

1X8=8

16 lambs were born to 8 sheep. How many lambs were born to 1 sheep?

24+8=3

1 infant was born to a monkey. How many infants were born to 8 monkeys?

fg\

3x6=18

24 kits were born to 8 rabbits, How many kits were born to 1 rabbit?
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16+ 8=2

3 cubs were born to a lion. How many cubs were born to 6 lions?

1610

8X3=24
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